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equation -

solution -

Solve the equation for the unknown value:

4(a+3)=8a-4

www.mrtownsend.com

solve_alg_eq_notes.gwb - 3/8 - Mon Sep 21 2015 08:04:16

solve_alg_eq_notes.gwb - 4/8 - Mon Sep 21 2015 08:04:28

Solve the equation for the unknown value:

7(x-3)=2(x-9)+ 2x

Solve the equation for the unknown value:

2a-3a=
ZLa-% q
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Solve the equation for the unknown value:

dx r $x=I3

Solve the equation for the unknown value:

\
Um?.\.{u ..Wuo, + 3
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Solve the equation for the unknown value:

0.6c+05=29

Solve the equation for the unknown value:

65h+15=43h-07






